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5% — 6x% + 2(8)62 — 9x2) +x

3(3x2 + 5x3) +3x° = 3% +3x°

x3 +5x+4x3 — Ox+ Tx

3(8)62 — 3x)+ o+ 5+ 3%

6x” — Tx + 4x + 6x° + 5x

7 + Ox + 2(5x + 6x2) +4x°

Sx+ 9% — 3(7x2 + 3x2) +8x°

Sx + 6x + 6x° — 4(5x2 —2x)

67 + 8x + 6x° + 4x” + 3x°

3(6x3 + 5x2) —0x% — 7% + 5x

www.snowmath.com



https://www.snowmath.com

=)= AYA i 2 TR R
w4 - e

532 — 6 +2(8x% — 9x%) + x

—3x% + x

3(3x% + 5x°) + 3x° — 3% +3x2
15 + 1222

x3 + 5)C-|-4)C3 — Ox+ Tx
5% + 3x

3(8%% — 3x) + x° + 5x% + 3
43 + 295 — Ox

6x% — Tx + dx + 6% + 5x
12 + 2x

7+ 9x + 2(5x + 6x2) + 4y
11> + 1222 + 19x

5x+ 9 — 3(7x% + 3x%) + 8&x°
8> — 217 + 5x

5x+ 6x + 6x° — 4(5x° — 2%)
—14x% + 19x

6x% + 8x + 6x° + dx? + 3x?
6> + 1327 + 8x

3(6x° + 5x%) — 9% — Tx® + 5x
18%° — 2% + 5x
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